
Create the model from a 
given set of parameters

Model
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Generate observations 
from this model


In each trial of the 
simulation the x-values are 
the same and the y-values 

are generated using:


Evaluate the distribution 
of each statistic of interest 
(e.g., plot, compute mean, 

sd)

<latexit sha1_base64="3YA3U/kKDJmwqj2EveesrZWy7EY=">AAACIHicbVDLSsNAFJ34rPUVdelmsAgVJCRSrMuCG1dSwT6gKWUyvW2HziRhZiKUkE9x46+4caGI7vRrnLRdaOuBgcM55zL3niDmTGnX/bJWVtfWNzYLW8Xtnd29ffvgsKmiRFJo0IhHsh0QBZyF0NBMc2jHEogIOLSC8XXutx5AKhaF93oSQ1eQYcgGjBJtpJ5d9SFWjBvKsB/lSdApc5jTd7LUV0xkviB6RAlPb7Oye46NNhTkrGeXXMedAi8Tb05KaI56z/70+xFNBISacqJUx3Nj3U2J1IxyyIp+oiAmdEyG0DE0JAJUN50emOFTo/TxIJLmhRpP1d8TKRFKTURgkvm2atHLxf+8TqIHV92UhXGiIaSzjwYJxzrCeVu4zyRQzSeGECqZ2RXTEZGEatNU0ZTgLZ68TJoXjnfpVO4qpVplXkcBHaMTVEYeqqIaukF11EAUPaJn9IrerCfrxXq3PmbRFWs+c4T+wPr+ARm1o3k=</latexit>

✏i
i.i.d.⇠ N (0,�)

<latexit sha1_base64="KQ+THtWYyGGOSkeehxbwX3x66F4=">AAACEnicbVDLSgMxFM3UV62vUZdugkVoEcqMFHUjFNy4rGAf0A5DJr1tQzMPkow4DP0GN/6KGxeKuHXlzr8x085CWw8ETs45l+QeL+JMKsv6Ngorq2vrG8XN0tb2zu6euX/QlmEsKLRoyEPR9YgEzgJoKaY4dCMBxPc4dLzJdeZ37kFIFgZ3KonA8ckoYENGidKSa1YTl+Er3PdAEdfCpzmzKw8uq2ZXiCTjOslcs2zVrBnwMrFzUkY5mq751R+ENPYhUJQTKXu2FSknJUIxymFa6scSIkInZAQ9TQPig3TS2UpTfKKVAR6GQp9A4Zn6eyIlvpSJ7+mkT9RYLnqZ+J/Xi9Xw0klZEMUKAjp/aBhzrEKc9YMHTABVPNGEUMH0XzEdE0Go0i2WdAn24srLpH1Ws89r9dt6uVHP6yiiI3SMKshGF6iBblATtRBFj+gZvaI348l4Md6Nj3m0YOQzh+gPjM8fphSbkg==</latexit>

yi = �0 + �1(xi) + ✏i

<latexit sha1_base64="81zrPiHXbJHf4Qp22Q41ZV4RcAs=">AAACG3icbZDLSsNAFIYnXmu9RV26GSyCq5CUetkIBTcuK9gLNKGcTCft0MnFmYlQQt/Dja/ixoUirgQXvo3TNIK2/jDw851zOHN+P+FMKtv+MpaWV1bX1ksb5c2t7Z1dc2+/JeNUENokMY9FxwdJOYtoUzHFaScRFEKf07Y/uprW2/dUSBZHt2qcUC+EQcQCRkBp1DOrrk8V9Gx8iW2rit27FPp4xpycnf4wyQYhaOT0zIpt2bnwonEKU0GFGj3zw+3HJA1ppAgHKbuOnSgvA6EY4XRSdlNJEyAjGNCuthGEVHpZftsEH2vSx0Es9IsUzunviQxCKcehrztDUEM5X5vC/2rdVAUXXsaiJFU0IrNFQcqxivE0KNxnghLFx9oAEUz/FZMhCCBKx1nWITjzJy+aVtVyzqzaTa1SrxVxlNAhOkInyEHnqI6uUQM1EUEP6Am9oFfj0Xg23oz3WeuSUcwcoD8yPr8Brxqdbw==</latexit>

�0 = 0.2 �1 = 0.5 � = 1
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<latexit sha1_base64="zTbdSd2GvhuoTZ3Ff5fZzPM0z98="></latexit>

yi
i.i.d.⇠ N

�
0.2 + 0.5xi, 1

�

<latexit sha1_base64="pvDo+LNE1N6btVI1z/haKnfiO88=">AAACA3icbVDLSgMxFM3UV62vUXe6CRbBhZQZKeqyIILL+ugD2mHIpJk2NMkMSUYoQ8WNv+LGhSJu/Ql3/o2ZdhbaeiDkcM693HtPEDOqtON8W4WFxaXlleJqaW19Y3PL3t5pqiiRmDRwxCLZDpAijArS0FQz0o4lQTxgpBUMLzK/dU+kopG406OYeBz1BQ0pRtpIvr0X+M4xfICB72ZflyM9kDy9ub0c+3bZqTgTwHni5qQMctR9+6vbi3DCidCYIaU6rhNrL0VSU8zIuNRNFIkRHqI+6RgqECfKSyc3jOGhUXowjKR5QsOJ+rsjRVypEQ9MZbajmvUy8T+vk+jw3EupiBNNBJ4OChMGdQSzQGCPSoI1GxmCsKRmV4gHSCKsTWwlE4I7e/I8aZ5U3NNK9bparjl5HEWwDw7AEXDBGaiBK1AHDYDBI3gGr+DNerJerHfrY1pasPKeXfAH1ucPhBKWJA==</latexit>

b0, b1, RSE
<latexit sha1_base64="pvDo+LNE1N6btVI1z/haKnfiO88=">AAACA3icbVDLSgMxFM3UV62vUXe6CRbBhZQZKeqyIILL+ugD2mHIpJk2NMkMSUYoQ8WNv+LGhSJu/Ql3/o2ZdhbaeiDkcM693HtPEDOqtON8W4WFxaXlleJqaW19Y3PL3t5pqiiRmDRwxCLZDpAijArS0FQz0o4lQTxgpBUMLzK/dU+kopG406OYeBz1BQ0pRtpIvr0X+M4xfICB72ZflyM9kDy9ub0c+3bZqTgTwHni5qQMctR9+6vbi3DCidCYIaU6rhNrL0VSU8zIuNRNFIkRHqI+6RgqECfKSyc3jOGhUXowjKR5QsOJ+rsjRVypEQ9MZbajmvUy8T+vk+jw3EupiBNNBJ4OChMGdQSzQGCPSoI1GxmCsKRmV4gHSCKsTWwlE4I7e/I8aZ5U3NNK9bparjl5HEWwDw7AEXDBGaiBK1AHDYDBI3gGr+DNerJerHfrY1pasPKeXfAH1ucPhBKWJA==</latexit>

b0, b1, RSE
<latexit sha1_base64="pvDo+LNE1N6btVI1z/haKnfiO88=">AAACA3icbVDLSgMxFM3UV62vUXe6CRbBhZQZKeqyIILL+ugD2mHIpJk2NMkMSUYoQ8WNv+LGhSJu/Ql3/o2ZdhbaeiDkcM693HtPEDOqtON8W4WFxaXlleJqaW19Y3PL3t5pqiiRmDRwxCLZDpAijArS0FQz0o4lQTxgpBUMLzK/dU+kopG406OYeBz1BQ0pRtpIvr0X+M4xfICB72ZflyM9kDy9ub0c+3bZqTgTwHni5qQMctR9+6vbi3DCidCYIaU6rhNrL0VSU8zIuNRNFIkRHqI+6RgqECfKSyc3jOGhUXowjKR5QsOJ+rsjRVypEQ9MZbajmvUy8T+vk+jw3EupiBNNBJ4OChMGdQSzQGCPSoI1GxmCsKRmV4gHSCKsTWwlE4I7e/I8aZ5U3NNK9bparjl5HEWwDw7AEXDBGaiBK1AHDYDBI3gGr+DNerJerHfrY1pasPKeXfAH1ucPhBKWJA==</latexit>

b0, b1, RSE
<latexit sha1_base64="pvDo+LNE1N6btVI1z/haKnfiO88=">AAACA3icbVDLSgMxFM3UV62vUXe6CRbBhZQZKeqyIILL+ugD2mHIpJk2NMkMSUYoQ8WNv+LGhSJu/Ql3/o2ZdhbaeiDkcM693HtPEDOqtON8W4WFxaXlleJqaW19Y3PL3t5pqiiRmDRwxCLZDpAijArS0FQz0o4lQTxgpBUMLzK/dU+kopG406OYeBz1BQ0pRtpIvr0X+M4xfICB72ZflyM9kDy9ub0c+3bZqTgTwHni5qQMctR9+6vbi3DCidCYIaU6rhNrL0VSU8zIuNRNFIkRHqI+6RgqECfKSyc3jOGhUXowjKR5QsOJ+rsjRVypEQ9MZbajmvUy8T+vk+jw3EupiBNNBJ4OChMGdQSzQGCPSoI1GxmCsKRmV4gHSCKsTWwlE4I7e/I8aZ5U3NNK9bparjl5HEWwDw7AEXDBGaiBK1AHDYDBI3gGr+DNerJerHfrY1pasPKeXfAH1ucPhBKWJA==</latexit>

b0, b1, RSE
Collect statistic(s) of 

interest from each trial

Distribution of the b1 estimates

Trial 1 Trial 2 Trial 3 Trial 4


